Truth tables: Sl saall Jlsan

Negation: &l

P|—P
T F
F T
Conjunction:
P19 PAg The conjunction g A g is when both p and q are and

False other wise.

F F

=

F

Disjunction

Pld pVq The Disjunctionp V q is when both p and g are and
T T T .
Ture other wise.
T|F T
FI1T T

Conditional Statement: il dles

Pla pP—4q The Conditional Statement p — q is False when p is andqis
T -IIZ— l— False are and True other wise.

FIT T

FIF T

Bi conditional Statement: 4 5 il dlas

$ ?_ p (? q The Bi conditional Statement p <= q are True when p and q are
TTF True and False | but other wise.
FIT
FIF T
Exclusive or :
P|d r®q
T T F
T|F
FIT
FLF F




Showthat (p = r)A(q — r)and (pV q) — r are logically equivalent. Using

truth table.
pla|r | (p—or) (q—r1) p—or)A(@—T) (rVvaq) (pvg) —r
T T|T T T i T i
T|TI|F F F F T F
TIF|T T T i T i
T[F[F F T F T i
Fl T[T T T i T i
Fl T |F T F F T F
FlF [T T T i F i
FI FI|F T T i F i

They are logically equivalent.

Show that(p V q) — (p A q) is a tautology . Using truth table.

pP|q pVgq PAq (rvag) - (pAQ)
T| T T T T
T|F T F F
FIT T F F
F|F F F ]

It is not tautology because not all true




